1T6r‘(r)1p Series:[ 2. 5. 12. 14. 7.], erreur Mk 0 = 317.005074079f6r(n)p Series: [ 2. 5. 12. 14. 16.], erreur Mk 1 = 339.050131891
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Temp Series : [ 2. 5. 12. 14. 1.], erreur Mk 2 = 348.149942199 Temp Series : [ 2. 5. 12. 14. 20.], erreur Mk 3 = 354.340913298
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ir6r6p Series: [ 2. 5. 12. 14. 15.], erreur Mk 4 = 358.856813095f6mp Series: [ 2. 5. 12. 14. 13.], erreur Mk 5 = 360.875396585
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Temp Series : [ 2. 5. 12. 14. 3.], erreur Mk 6 = 361.693304486_Temp Series : [ 2. 5. 12. 14. 10.], erreur Mk 7 = 362.027746947
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